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vFkZ'kkL=k
Economics

(318)

f'k{kd vafdr ewY;kadu&i=k

Tutor Marked Assignment

dqy vad % 20

Max.Marks: 20

fVIi.kh % (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA

Note : All questions are compulsory. The Marks allotted for each question are given

beside the questions.

(ii) mÙkj iqfLrdk ds izFke i`"B ij viuk uke] vuqØekad] vè;;u dsUnz dk uke vkSj fo"k;
Li"V 'kCnksa eas fyf[k,A

Write your name, enrollment numbers, AI name and subject on the first page of the

answer sheet.

1- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

a(a) ^^fo'o vFkZO;oLFkk dks nks Hkkxksa esa oxhZÑr fd;k x;k gS%& fodflr vFkZO;oLFkk vkSj fodkl'khy
vFkZO;oLFkkA** dFku ds izdk'k esa bu nksuksa vFkZO;oLFkkvksa ds chp fuEufyf[kr fo'ks"krkvksa ds
vk/kj ij varj Li"V djsa%& (ikB 1 ns[ksa)

"The world economy is broadly classified into two parts i.e. developed economy and developing

economy." In the light of the statement distinguish between these two economies on the basis of

following features-: (See Lesson 1)

1. Ñf"k ij fuHkZjrkA

Dependence on agriculture.

2. Hkkjh tula[;k nckoA

Heavy population pressure.

(b) ^^fdlh Hkh jk"Vª ds fodkl dks lqfuf'pr djus ds fy, ;kstuk cukuk vko';d gS**A D;k vki fn,
x, dFku ls lger gSa\ nks dkj.k crkb;s vkSj mUgsa vius mRrj dk leFkZu djus ds fy, le>kb;sA

(ikB 2 ns[ksa)
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"Planning is essential to ensure growth of any nation". Do you agree with the given statement?

Give two reasons and explain them to support your answer. (See Lesson 2)

2- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) ^^lao`f¼ ds fcuk vkfFkZd fodkl yxHkx vdYiuh; gSA** bl dFku dks è;ku esa j[krs gq,] fodkl
vkSj o`f¼ dh vo/kj.kk ds chp varj dhft,A (ikB 3 ns[ksa)

“Economic development without growth is almost inconceivable.” Keeping this statement in

view, distinguish between the concept of development and growth. (See Lesson 3)

(b) ^^vfodflr vFkZO;oLFkk,a cM+h la[;k esa fofHkUu leL;kvksa ls ihfM+r gSa**A fn, x, dFku ds lUnHkZ
esa vfodflr vFkZO;oLFkkvksa dh lkekU; fo'ks”krkvksa dks le>kb,A (ikB 3 ns[ksa)

"Underdeveloped economies suffer from a large number of issues". Explain the common features

of underdeveloped economies in the light of given statement. (See Lesson 3)

3- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) ^^csjkstxkjh dks ,sls O;fDr ds fy, dke u feyus dh fLFkfr ds :i esa ifjHkkf"kr fd;k tkrk gS tks
orZeku etnwjh nj ij dke djus ds fy, fiQV vkSj bPNqd gSA ;g vuSfPNd fLFkfr gS u fd
LoSfPNd vkyL; gSA** dFku ds vkyksd esa csjkstxkjh ds fofHkUu izdkjksa dh O;k[;k dhft,A

(ikB 4 ns[ksa)

“Unemployment is defined as a state of worklessness for a person who is fit and willing to work

at the current wage rate. It is a condition of involuntary and not voluntary idleness”. Explain

different types of unemployment in the light of above statement. (See Lesson 4)

(b) lkaf[;dh; MsVk dks O;ofLFkr :i ls Vscy] xzkiQ vkSj pkVZ ds :i esa O;ofLFkr vkSj çLrqr fd;k
tk ldrk gSA ,slk gh ,d vkjs[k ckj vkjs[k gSA ckj vkjs[k ds fuekZ.k esa 'kkfey pj.kksa dh O;k[;k
dhft;sA (ikB 7 ns[ksa)

Statistical data can be systematically organized and presented in the form of tables, graphs and

charts. One such diagrams is a bar diagram. Explain the steps involved in construction of bar

diagram. (See Lesson 7)
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4- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100 to 150 words.

(a) fuEufyf[kr 'kCnksa dks le>kb,% (ikB 6 ns[ksa)

Explain the following terms: (See Lesson 6)

(1) lekos'kh Jà[kyk

Exclusive series

(2) [kqys fljs dh Jà[kyk

Open end classes

(3) lap;h vko`fRr

Cumulative frequency

(4) oxZlhek

Class limit

(5) feyku fpUg

Tally Mark

(b) csjkstxkjh nj Je 'kfDr dk og çfr'kr gS tks fcuk dke ds gSA bldh x.kuk uhps nh xbZ gS%

csjkstxkjh nj ¾ (csjkstxkj Jfed @ dqy Je 'kfDr) × 100A

gkykafd csjkstxkjh dh njsa fofHkUu vo/kj.kkvksa ds vk/kj ij fHkUu gksrh gSaA D;k vki csjkstxkjh dks
ekius ds dqN vU; rjhds lq>k ldrs gSa\ fdUgha nks dk mYys[k dhft,A (ikB 4 ns[ksa)

Unemployment rate is the percent of the labor force that is without work.It is calculated as

below:

Unemployment rate = (Unemployed Workers/Total labor force) × 100. Rates of unemployment,

however, differ based on different concepts. Can you suggest some other methods of measuring

unemployment? Explain any two. (See Lesson 4)

5- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100 to 150 words.
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(a) Hkkjr ds fofHkUu jkT;ksa esa vyx&vyx thou Lrj gSaA dqN jkT; rqyukRed :i ls le`¼ gSa tcfd
dqN rqyukRed :i ls xjhc gSaA bls è;ku esa j[krs gq, Hkkjr esa c<+rh {ks=kh; vlekurk ds dkj.kksa
dh O;k[;k djsaA (ikB 4 ns[ksa)

Different states in India have different living standards. Some states are comparatively rich

while some are comparatively poor. Keeping this in view explain the causes of growing regional

disparity in India. (See Lesson 4)

(b) vkadM+ksa ds çdkf'kr vkSj vçdkf'kr lzksrksa ds chp D;k varj gS\ çkFkfed vkSj f}rh;d vkadM+ksa ds
laxzg ds fofHkUu lzksrksa dh O;k[;k dhft;sA (ikB 6 ns[ksa)

What are the differences between published and unpublished sources of data? Explain various

sources of collection of primary and secondary data. (See Lesson 6)

6- uhps nh xbZ ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project out of the given below:

a (a) tSlk fd vki tkurs gSa fd lkaf[;dh; MsVk izLrqr djus dk mís'; lwpuk dks dq'kyrkiwoZd laizsf"kr
djus ds fy, n`'; izn'kZu dh 'kfÙkQ iznku djuk gSA bl tkudkjh dks è;ku esa j[krs gq, ,d izkstsDV
rS;kj djsaA ikl ds fdlh fo|ky; esa tkdj ekufodh] okf.kT; vkSj foKku ladk; esa fiNys rhu
o"kks± ls fo|ky; esa nkf[ky gq, fo|kfFkZ;ksa dh la[;k ls lacaf/r vkadM+s ,df=kr djsaA vk¡dM+ksa dks
cgq naM vkjs[k] mifoHkkftr naM vkjs[k vkSj izfr'kr naM vkjs[k ds :i esa izLrqr djsa vkSj izLrqfr
dh O;k[;k Hkh djsaA (ikB 7 ns[ksa)

As you know that the aim of presenting a statistical data provides power of visual display to

communicate the information efficiently. Prepare a project by taking this information into account.

Visit a school nearby and collect the data related to the number of students admitted in the

school for three years in humanities, commerce and science streams. Present the data in the

form of multiple bar diagram, subdivided bar diagram and percentage bar diagram and also

interpret the presentation. (See Lesson 7)

(b) MsVk dks fofHkUu rjhdksa ls n'kkZ;k tk ldrk gSA ikbZ vkjs[k ,d o`Ùk gS] tks dqy ds fofHkUu ?kVd
Hkkxksa ds vuqikr dks izLrqr djus ds fy, ?kVd {ks=kksa esa mi&foHkkftr gSA ;g MsVk dks le>us ,oa
;ksX; rjhds ls izLrqr djus ds dbZ rjhdksa esa ls ,d gSA vki vius ?kj esa nSfud mi;ksx dh nl
oLrqvksa dh igpku djsa vkSj bu oLrqvksa (mnkgj.k ds fy, VwFkisLV] nok] nw/ vkfn) ij ekfld O;;
dks uksV djsaA ekfld O;; dk izfrfuf/Ro djus ds fy, MsVk ls ,d ikbZ pkVZ cuk,aA

(ikB 7 ns[ksa)

Data can be represented through various ways. Pie diagram which is a circle subdivided into

component sectors to present the proportion of different constituent parts if the total is one of

the ways to represent data in an understandable manner. You are required to identify ten items

of your daily use in household and note the monthly expenditure on these items and prepare a

Pie chart based on it. (See Lesson 7)


